C:h Addition (Horizontal)

Name:

Solve each problem.

1) 626+ 615=

2) 94+61=

3) 94+13=

4 73+ 1=

5 9490+ 94 =

6) 4,968+ 1,087 =

7) 990 + 45 =

8) 7,900+ 34=

9 5619+ 714 =

10) 89 +53=

11) 7,597 + 4,924 =

12) 44+5=

13) 5,966 + 171 =

14) 813 +68 =

15) 5688 + 651 =

10.

11.

12.

13.

14.

15.

Answers
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ﬂh Addition (Horizontal)

Name:

Answer Key

Solve each problem.

1) 626+615= 1,241

2) 94+61= 155

3 94+13= 107

4) 73+ 1= 74

5 9490+94= 9,584

6) 4968+ 1,087= 6,055

7) 990+45= 1,035

8 7900+34= 7,934

9 5619+ 714= 6,333

10) 89+53= 142

11) 7597 +4,924= 12,521

12) 44+5= 49

13) 5966+ 171= 6,137

14) 813+68= 881

15) 5688+ 651= 6,339

10.

11.

12.

13.

14.

15.

Answers

1,241

155

107

74

9,584

6,055

1,035

7,934

6,333

142

12,521

49

6,137

881

6,339
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C:h Addition (Horizontal)

Name:

Solve each problem.

Answers

{

6,055 6,333 155
7,934 1,035 142

1,241
74

9,584
107 1

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

626 + 615 =

94 +61=

94+ 13=

73+1=

9,490 + 94 =

4,968 + 1,087 =

990 + 45 =

7,900 + 34 =

5,619 + 714 =

89+ 53 =

10.

C
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